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The base of a solid is a region in the first
quadrant bounded by the x-axis, the y-axis any
the graph of the line x + 2y = 8, as shown in {f
figure below. Ifthe cross sections of the solid
perpendicular to the x-axis are Wi
is the volume of the -

solid? (Calculator)
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Let R be the region in the first quadrant

bounded by the graphs of y =2 +sinx K42y = %
y=¢*7_and the y — axis as shown in the 2\ F B-x
figure above. Find the@olumebf the \= -4 %

solid generated when R is rotated around

the linm= E] (Calculator) |
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The. region bounded by the The graph of a function fis shown in the. -
graph of y = 2x — x? and the figure below and has a horizontal tangent a
x — axis is the base of a solid. x=4andx=8. Ifetm=s j suyd, what i
For this solid, each cross section the value of '(3)? :
perpendicular to the x — axis is (No Caleulator) 4
an €quilateral triangley What is +H
the volume of this solid?
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What 1s the solution to
the differential equation

B o ing s o
o S¥ywith the initial

condition ¥(7)=1,
(No Calculator)
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| Y= -acsx-1)
Find the@rey of the

region in the first
quadrant enclosed by
the graphs of y = cos x,
y =x and the y — axis.

(Calculator)
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The graph of the function /' shown above
horizontal tangents at x =2 and x =5. L

be the function defined by 8*)= ,[0 J@d

For what values of x does the graph of g - 3
have a point of inflection? (No Calculator)
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formed by revolving the regic
bounded by the graphs of
y=4x—x?and y = 0 about th
‘x — axis. | (Calculator) '




The base of a loud speaker is determined by the
2 2

two curves y = g and y=—“‘1—0 forl <x<4as

shown in the figures to the right. For this loud

speaker, the crggs. sections perpendicular to the

x —axis are§ cS. hat is the volume of this

speaker, in cubic units? {Calculator)

Find the value of. G'(2),
(No Calculator.)
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What is the value of G(2)?
(No Calculator)
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find the particular 1 0
solution to the .
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Region R is the region in the
first quadrant bounded by the

graphs of /() =+x, g(x)=6—x
and the x — axis. Find the area

of R. (No Calculator)

(No Calculator)
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